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Consider the following statements with
regard to 42nd Constitutional Amendment
Act:

1. It made changes in the Preamble and
Seventh Schedule of the constitution.

2. It also imposed restrictions on the
review powers of the judiciary
overriding the ruling under Minerva
Mills Case.

3. The Act gave primacy to the Directive
Principles of State Policy over the
Fundamental Rights.

Which of the statements given above are

correct?

(@) 1 and 3 only

(b) 1 and 2 only

(c) 2and 3 only

(d1,2and 3

Which of the following statements is/are

correct regarding the Article 17 (Abolition of

Untouchability)?

1. It abolishes untouchability and its
practice in any form.

2. "Untouchability" has been defined under
Avrticle 17.

3. Itisavailable only against the state.

4. Itis implemented by "Protection of Civil
Rights Act, 1955".

Select the correct answer using code given

below.

(@) 1and 2 only

(b) 1 and 4 only

(c) 2, 3and 4 only

(d) 4 only

Which of the following is/are the necessary
features of federation?

1. Dual system of government

2. Written constitution

3. Independent judiciary

Select the correct answer using the code
given below.

(@) 1and 2 only

(b) 2 only

(c) 1and 3 only

(d)1,2and 3
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Consider the following statements regarding

the Attorney General of India:

1. He must be qualified to be a judge of the
Supreme court.

2. Article 76 provides the procedure for his
removal.

3. He has to resign when the Council of
Ministers is dissolved.

Which of the statements given above is/are

correct?

(@) 1 only

(b) 1 and 3 only

(c) 2and 3 only

() 1,2and 3

Which of the following directive principles

is/are based on the Gandhian Principles?

1. To promote equal justice and to provide
free legal aid to the poor.

2. To raise the level of nutrition and the
standard of living of people and to
improve public health.

3. To organise village panchayats and
endow them with necessary powers and
authority to enable them to function as
units of self-government.

Select the correct answer using the code

given below.

(@) 2 only

(b) 3 only

(c) 2and 3 only

() 1,2and 3
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